1. Represent the following with symbols.

Particle Model

Symbol Symbol
0, H20;
4 Cl 2 Na,O
CO; NH;
PCls 2 NayO3
Ne 3Nz
2 PbNO; NaCl
2 Pbl H,SO4
2 NaS0,4 2 HySO4
O3 CaCly
30 4 KCI
30; AlyS;3
Al,SO, 2 Al,S3
2. Represent each equation using the particle model.
a. CHg + O, — 3CO; + 4H,0
b. TiCl, + O, Ti O, + 2Cl,
C. Ba(OH), + — BaSO, + 2 NaOH
d. Pb(NO3), + 2KI —  Pbl, + 2KNOs;




2NH; + 3Cl, — 6HCI + N,

2N, + 50, — 2 N20s

N, + 3H, — 2 NH;

2KNO; — 2KNO; + O

NHsNO, — N, + 2 H,0O

4 Al + 30, — 2ALO;

2 Fe,03 + 3C — 3CO; + 4 Fe

CO, + 2KOH — K,CO; + H,O

2Al + 3H,S0, — A|2(SO4)3 + 3 H,
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